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8 e S|
® Y
a+t+b+c=0..... (i)
ax? + bx + ¢ = 0 A,
|CEgaEd
= b? - 4ac

=[-@a+0)P-4ac [b=-(a+0c)..(i) (ATF AT
= (a + ¢)? - 4dac
=(a-c) [--(a + b)? - 4ab = (a - b)?]

G, (FICA ARG I3 T AARE 20O AT 11|

- e =0

. ax? + bx + ¢ = 0 FNFACR e AW € W T |

faqre Feactd Ao @ T2 77T @ 4 Ao 2ve fGwre THFI 1o TAFS 2w

1. I (a - 9x* + 2x + 1 = 0 AN G A& 1 TF, O a-4F N 7 A |

® NiLw
(a-4)x +2x + 1 = 0 FANF7957 @3 Frer 1, wie x = 1, AN 7 303 |

qrPCE, (a - 4).1> +21+1=0
A a-49)+2+1=0
A,a-4=-3
A,a=4-3

a=1

M (a - 4)x% + 2x + 1 = 0 AT 936 Fer 1 27, OIECE a-93 T 1 |
2. 5x% - 3x + 6 = 0 ANFICIT oW o «R B S,

o

i. (1 +é) ii. 2(02 + B?) 97 W [efw et |

® ST
5x2 = 3K+ 6 =0 ... ..., (i)
G, a = 5, b = - 3, ¢ = 6 [2M€ ATFAUCF ax® + bx + ¢ = 0-4F 3CF Pl FCF AZ]
(i) TR AT VAR TE = o + B = —g
_—(-3) 3
*tP=—5"75

ii) 7 ANFACIT MeaCTT @I = aff = =

a

url| o

i) é+% i) 2(0? + B?)
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- oif = 2[( + B)? - 20B]
3 2
; {4
3
9 12
=%2 _2[25—5}
-1 ~2(258) - 250 _ 210
-2 - 25 ) © 25 25
3. ax® + bx + ¢ = 0 NI4T G AT oA ket 2w, TS T, 2b? = ac|
® g
ax’+bx+c=0.. ... ... (i)
43, (i) T AN e, o € 20
oc+20c=_—b
a
?11,3oc=_—b
a
Aot = Fg e o o (ii) =R e

2o = —
A 2o = &
a
b ¢
w23 -5
b o __b
A 2o =2 [ W AT g, o = Sa}
. 2b? = 9ac [&WI]

4] ax® + bx + ¢ = 0 RIS TNFAT Ne@RF TAS 1 : r TF, O (W48 @ 7(“;1)2:
® STyl

ax>’+bx+c=0.... .. (i)
4f3, (1) T AR e, o 8 ro

o+ ra = —
a

?ﬂ,oc(1+r)=?b

b2
— |
ac
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TeToiwis 5 07 Mg,
[a(l + D)) = (“’)2

a

A, o(1 + 1) = = ... .. (ii)

a
(ii) = FANFACF (iii) = TN T @9t T A,

b2 5
o1+ 7 i (1+1) _b* A
=3 A =
rel’ , r 93a/ c

LS Vi [emﬁa—]

r

AT T 2P 8 O i

1. IR o7 2 TS 6 BIF I 30 Hiwr wwe 37 @ I sAhe AR | I W FAF AT
afS Tow FeCNd oy T FET |

® STl
4f7, s TR 70 2lfe Teaw IR ST x 5 |

G4 6 T FCeT 2fS Torq FACE 6T 20 (x - 6) G |

ST 30 BIFE T Aied e S0

I QAT 30 GIFT Fed T3,

30 _ 30
—g I T = o X 12 & e

ERICKIGR

3012 30x12
(x-16) X

a, 360[x “6} 3

wa_§ x 126 [@reyg 1 v = 12 5]

=3

(x—6)
al, 36()><6 = 3(x2 ~ 6x)

A, x2-6x-720=0

4, x* - (30 - 24)x - 720 = 0
qA, x> - 30x + 24x - 720 =0
A, x(x-30) +24 (x-30)=0
4, (x - 30)(x + 24) = 0
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v (i | Affe | @vaie e e

=7, I 2,
x-30=0 | X+24=0
x =30 I Soox=-24
€ T [ET AN 20 AT 1|
IR S A o FACE T e 30 B

2. 600 R =T O G FAoAF FPT (G GI(6 G (G AT 3 B! I W (W | 96 G
ST A T 10 B ==, G qfow aifewast ffy I

® SNigq
TCAFE G (T iferasl 9617 x FW |
AARTEOT (G aiforaat 96 (x + 10) |

21 600 Tfi Y (S s G T w000 7
47 600 il 7Y (U 3poir T (G o a0 e
PP,

600 600 _

x x+10
x+10-%] _

l, 600[ x(x + 10) } =3

200
Y, 660 x 10 = 3(x* +10x)
0, % + 10x - 2000 = 0
l, % + (50 — 40)x — 2000 = 0
0, % + 50x - 40x — 2000 = 0
9, x(x + 50) - 40(x + 50) = 0
ql, (x + 50)(x - 40) =0

3, | ol
x+50=0 | x—-—40=0
aKLX:_SO | aT,X:40

G (GTR 9TSTR9 Ao 20O AT 1 |

G (BT oifetel = 40 1 / =6t

@32 AR TG (GT ofetas = (40 + 10) /261 = 50 Ffa/251 |
3. T @I oS (WIS WA Avad O 097 e w3 I 27, o AT [T It |
® Sigi

AL, TG L8R 72 261 '

2P,

5x =2x* - 3

A, 2x2-5x-3=0

qA22x2-(6-1)x-3=0

A, 2x°-6x+x-3=0
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QU 2x(x-3)+1(x-3)=0
qA x-3)2x+1)=0

=, | w2,
Xx-3=0 | 2x+1=0

| 1

aT,X:3 a’T’ )(:-E

@R TR L SF @R T ©I2 WA - % 2Co 2R 1
o IR %= 3
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